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Investigation of the air temperature influence upon the resistance characteristic of a ventilation 
system: This article is dedicated on an analysis and experimental investigation of air temperature influence 
upon the resistance characteristic of a ventilation system. The stand, the procedure, and the experimental 
results are described. It is proved that the hydraulic loses related to the volume rate of air delivery increase 
with the rise of air temperature. 

Key words: resistance characteristic of ventilation system; mass and volume rate of air delivery 
related to standard conditions; influence of air temperature. 
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T2 > T1, 
 

 

 
.1        

    p = f ( ,T) 
 

–  
1 2  

– 
Q1 = Q2 = Q.  

 
  Q q1 1, 2  Q = q2 . 

1 
= f (Q) T1  2 = f 
(Q) T2 Q1 = Q2 = Q q1  >  q2 .   
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q1  =  q2   
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.3    
  p = f ( , t )   

 t1 = 230C   t2 = 400C,   
    t1 = const.= 230C. 
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